
YÜKSEKÖĞRETİM KURUMLARI SINAVI

YABANCI DİL DENEME TESTİ (YDT)

w w w . m o d e r n e n g l i s h . c o m . t rgd l i h tw w w . m o d e r n e n g l i s h . c o m . t rw w w m o d e r n e n g l i s h c o m t r

İNGİLİZCEİNGİLİZCE

1

202101

Soru kitapçık numarasının cevap kağıdına kodlanmamasının veya yanlış kodlanmasının sorumluluğu adaya aittir.
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Bu testte 80 soru vardır.

İNGİLİZCE

1. - 8. sorularda, cümlede boş bırakılan 
yerlere uygun düşen sözcük veya ifadeyi 
bulunuz.

1. External examiners in our university are 
responsible for the ---- of the exams.

A) evaluation  B) contribution 

C) agreement   D) dependence

  E)    research 

2. Criticizing the way we do things at home 
and wanting to change everything, the new 
fl atmate of ours was so ----.

A) kind   B) sincere 

C) bossy   D) fl uent 

  E)    indifferent 

3. It is important to protect underground water 
from pollution and to use it ---- without 
wasting a drop.

A) honestly   B) wisely

C) necessarily  D) plentifully 

  E)    calmly

4. When two or more atoms ----, they create 
what we know as the molecule, which is the 
smallest part of a chemical compound.

A)   settle  B)   combine

C)   participate  D)   idolize

  E)   quarrel

5. After a serious accident, the critically injured 
14-year-old girl was unfortunately ---- by three 
hospitals.

A) taken off  B) come up

C) turned down D) put out

  E)    looked after

6. More than 30 million people use the new rail 
station every year, and its capacity ---- when 
the new terminal ---- next year.

A) was increasing / opened

B) increases / is opened

C) has increased / will open

D) will increase / has opened 

E) is increasing / has been opened 

7. It was the third time the manager ---- him 
about the project’s delay but he ---- on 
handing it in late. 

A) is warning / will be insisting

B) warned / would have insisted 

C) had warned / insisted 

D) has warned / is insisting

E) had been warning / has insisted 

8. My niece always takes her time off her 
studies, but she hopes she ---- by the time 
she ---- twenty fi ve.

A) had graduated / turned

B) graduated / is turning 

C) will be graduating / will turn

D) has graduated / has turned 

E) will have graduated / turns
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38. - 40. soruları aşağıdaki parçaya göre 
cevaplayınız.

Californian Nick Stoeberl can offi cially say that he has 

the longest tongue in the world, as his tongue is 10.13 

centimetres long. He beat the former world record 

holder Stephen Taylor from the UK and entered the 

Guinness Book of World Records. Nick says that his 

tongue is useful for conventional activities such as 

licking lollipops, eating ice cream or getting pudding 

from the bottom of a cup. However, strangers fi nd his 

tongue bizarre. He says that when he meets someone 

new, he is introduced as having the longest tongue in 

the world, so he feels like he has to stick it out at them. 

That leaves the strangers with a weird impression.

38. How does Nick feel about being introduced to 
new people as having the longest tongue in 
the world?

A) He feels proud to be the world record holder.

B) He feels silly because he sticks out his 

tongue to show people.

C) He feels sad because people only remember 

his tongue.

D) He feels happy because people will follow 

him on social media.

E) He feels shy because people make fun of his 

long tongue.

39. Why does the author say that the strangers 
are left with a weird impression?

A) To emphasize that the book is fi lled with 

boring records everybody has seen before.

B) To draw attention to the book’s title and the 

man in the passage.

C) To express the interesting nature of Nick’s 

record.

D) To encourage people to compete in record 

breaking activities.

E) To emphasize the importance of Nick’s 

tongue in the book. 

40. What can be inferred from the passage?

A) There used to be someone else holding the 

longest tongue in the world record before.

B) All of the world records in the Guinness Book 

of World Records are unusual.

C) There is only one unusual world record in the 

Guinness Book of World Records.

D) Nick has an average sized tongue and failed 

to make it into the Guinness Book of World 

Records.

E) The Guinness Book of World Records is a 

book about Nick’s achievements. 
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59. - 63. sorularda, boş bırakılan yere 
parçada anlam bütünlüğünü sağlamak için 
getirilebilecek cümleyi bulunuz.

59. Waterpipe (WP) or narghile smoking is 
spreading among the youth. Its appeal comes 
from the pleasant smoke and social setting. 
----. Some evidence suggests that it ranges 
from 5% to 34%, and is globally increasing 
nearly as much as smoking.

A) To develop preventions, dependence in WP 

smokers must be understood very well

B) Its use is thus associated with harmful 

effects 

C) WP use is the second global smoking 

epidemic after the cigarette 

D) Investment in research needs to become a 

public health priority

E) Studies on the health effects of WP smoking 

are limited 

60. ----. Humans have dramatically increased 
the concentration of gases in it through the 
burning of fossil fuels like coal and oil. So, 
the concentration varies over many decades.

 
A) Some gases, such as carbon dioxide, can 

capture heat refl ected from the earth

B) The composition of the earth’s atmosphere 

has changed signifi cantly

C) Human activity affects the planet’s annual 

temperature

D) These changes are the result of biotic and 

geologic processes

E) Changes that take place on the earth itself 

also contribute to the temperature variations

61. Many companies are willing to change but 
aren’t certain what employees want. Why 
not set up a group that can provide ideas 
on how to make a real change for working? 
----. Having the group won’t be a threat to 
the company, but an opportunity to improve 
morale and production.

A) Lots of companies improve productivity 

because of family-friendly working practices 

B) You can talk to the managers about what you 

can achieve

C) You’re aware of your rights and what you’re 

entitled to from your employer 

D) Remember that together you’re a lot stronger 

than individually 

E) All you need to do is work out the strategies 

and make your case

62. ----. It can be accompanied by a loss of feeling 
in the affected area. It is most often caused 
by damage in the nervous system, especially 
the spinal cord. 

A) The situation may follow a certain pattern

B) Most paralyses caused by nervous system 

damage are constant in nature

C) Many animal species use paralysation to 

capture prey

D) Paralysis is loss of muscle function for one or 

more muscles

E) Another interesting use of paralysis in the 

natural world is the behaviour of some 

species 
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74. Büyük saksılarda funda yetiştirmek özel dikim 
koşulları oluşturabildiğinizden bahçenizde 
başka hiçbir yerde yetiştiremeyeceğiz bitkileri 
denemek için iyi fırsattır.

A) Growing shrubs in containers is a good 

opportunity to try plants that you can’t grow 

elsewhere in your garden as you can create 

customized planting conditions.

B) By growing shrubs in containers, you can 

get a good opportunity to try plants you can’t 

grow elsewhere in your garden as you can 

create customized planting conditions.

C) You can create customized planting 

conditions by growing shrubs in containers, 

which is a good opportunity to try plants that 

you can’t grow elsewhere in your garden.

D) Growing shrubs in containers is a good 

opportunity to try plants that you can’t grow 

elsewhere thanks to the customized planting 

conditions you can create.

E) It is a good opportunity for you to try plants 

you can’t grow elsewhere in your garden by 

creating customized planting conditions. 

75. Broadway tiyatroları Matthew Broderick 
ve Brooke Shields gibi ünlülerin rol aldığı 
bir törenle 11 Eylül saldırılarının 10’uncu 
yıldönemini anacaktır.

A) A ceremony featuring stars like Matthew 

Broderick and Brooke Shields in Broadway 

theatres is to mark the 10th anniversary of 

the September 11 attacks.

B) The 10th anniversary of the September 

11 attacks is to be marked by a ceremony 

featuring stars like Matthew Broderick and 

Brooke Shields in Broadway theatres.

C) Broadway theatres are to mark the 10th 

anniversary of the September 11 attacks 

with a ceremony featuring stars like Matthew 

Broderick and Brooke Shields. 

D) Broadway theatres are to hold a ceremony 

featuring stars like Matthew Broderick and 

Brooke Shields that will mark the 10th 

anniversary of the September 11 attacks.

E) Broadway theatres are to feature stars like 

Matthew Broderick and Brooke Shields in a 

ceremony that will mark the 10th anniversary 

of the September 11 attacks



21

Diğer Sayfaya Geçiniz.

BASIC COLLECTION

İNGİLİZCE YABANCI DİL DENEME TESTİ 1

w
w
w
.m
o
d
e
rn
e
n
g
li
s
h
.c
o
m
.t
r

76. - 80. sorularda, cümleler sırasıyla 
okunduğunda parçanın anlam bütünlüğünü 
bozan cümleyi bulunuz.

76. (I) Caused by various mycobacteria, 

Tuberculosis is a common infectious disease. (II) 
Usually, it attacks the lungs but can also affect 

other parts of the body. (III) Infection of these 

organs causes many symptoms. (IV) It is spread 

through the air when the patient coughs or 

sneezes. (V) Most infections in humans kill more 

than 50% of their victims.

A)  I         B)  II         C)  III          D)  IV         E)  V

77. (I) Magna Carta was the fi rst formal document 

of law. (II) It stated that a King had to follow 

the laws of the land and guarantee individual 

rights against his wishes. (III) This meant people 

couldn’t be arrested except by the law of the 

land. (IV) The Magna Carta established that a 

King could be limited, if he did things bad for the 

country. (V) In the medieval period, it did not, in 

general, limit the power of kings.

A)  I         B)  II         C)  III          D)  IV         E)  V

78. (I) Ghana is located on West Africa’s Gulf of 

Guine. (II) It has a total land area of 238,533 km. 

(III) Its population is estimated to be 23,478,000, 

about half of which live in rural areas. (IV) It has 

a population growth rate of 2.6% and a total 

fertility rate of 4.0. (V) Indeed, the country was 

once divided into ten political regions.

A)  I         B)  II         C)  III          D)  IV         E)  V

79. (I) Snowball Earth suggests that for millions 

of years the Earth was covered in ice. (II) This 

is why they don’t accept it. (III) This freezing 

happened over 650 million years ago. (IV) 
However, it is now thought that there may have 

been more than one of these periods. (V) They 

varied in extent but life could only go on in ice-

free shelters.

A)  I         B)  II         C)  III          D)  IV         E)  V

80. (I) Nothing pleases children as much as their 

parents’ attention. (II) The best way of making 

your family time count is to spare it carefully. 

(III) As your children grow, you fi nd there are 

increasing demands on everyone’s time. (IV) 
‘Free’ time can be taken up with friends visiting 

and must-watch TV programmes. (V) If you don’t 

take off some time to spend as a family, it won’t 

happen.

A)  I         B)  II         C)  III          D)  IV         E)  V
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